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Risposte

1. A

2. B

3. C

4. A

5. D

6. A

7. A

8. D

9. D

10. D

11. B

12. D

13. C

14. D

15. A

Risolvi ogni problema.

1) Quale opzione è un
multiplo di 2?

A. 24

B. 33

C. 25

D. 31

2) Quale opzione è un
multiplo di 5?

A. 89

B. 65

C. 81

D. 57

3) Quale opzione è un
multiplo di 3?

A. 47

B. 58

C. 45

D. 43

4) Quale opzione è un
multiplo di 9?

A. 171

B. 129

C. 107

D. 158

5) Quale opzione è un
multiplo di 9?

A. 122

B. 185

C. 178

D. 162

6) Quale opzione è un
multiplo di 2?

A. 24

B. 23

C. 33

D. 29

7) Quale opzione è un
multiplo di 3?

A. 51

B. 44

C. 43

D. 53

8) Quale opzione è un
multiplo di 5?

A. 104

B. 62

C. 102

D. 95

9) Quale opzione è un
multiplo di 6?

A. 105

B. 80

C. 71

D. 108

10) Quale opzione è un
multiplo di 10?

A. 117

B. 121

C. 145

D. 200

11) Quale opzione è un
multiplo di 3?

A. 62

B. 57

C. 46

D. 53

12) Quale opzione è un
multiplo di 5?

A. 93

B. 66

C. 79

D. 80

13) Quale opzione è un
multiplo di 6?

A. 70

B. 86

C. 114

D. 113

14) Quale opzione è un
multiplo di 2?

A. 39

B. 23

C. 27

D. 38

15) Quale opzione è un
multiplo di 10?

A. 120

B. 187

C. 135

D. 165
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